UEILA40_LZA4E Y

alphal3_4eX1X

25

15

0.5

alphal3_4eX1X:cyclenum {run == 8554}

,.

S S . . e .-
A e PR [ I

11939 11939.5 11940 11940.5 1194111941.51 2
cyclenum

delta46_12X4eY:cyclenum {run == 8554}
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usl_4aY:cyclenum {run == 8554}

11939 11939.5 11940 11940.5 1194111941.5 11942
cyclenum

usl_12X:cyclenum {run == 8554}

11939 11939.5 11940 11940.5 1194111941.5 11942
cyclenum

usl_sex
=

05

8556

3555.5

8555

3554.5

8554

3563.5

8553

3552.5

8552

usl_4eX:cyclenum {run == 8554}

11939 11939.5 11940 11940.5 1194111941.5 11942
cyclenum

run:cyclenum {run == 8554}
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cyclenum

4eX_coil7:cyclenum {run == 8554}

0 %: 1
11939 11939.5 11920 11940.5 1194111941.5 11942

cyclenum



yclenum {run == 8554}

4aY_coil7:c

yclenum {run == 8554}

4aY_coilé:c

yclenum {run == 8554}

4aY_coild:c

11939 11939.5 11940 11940.5 1194111941.5 11942

11939 11939.5 11940 11940.5 1194111941.5 11942

|
=} o
&

AnnT 104

-120

-60

-

cyclenum

0 11940.5 119411194151

1100~ At

0

i

911939.5 1Y

1

cyclenum

cyclenum

yclenum {run == 8554}

4eY_coil7:c

yclenum {run == 8554}

4eY_coilé:c

yclenum {run == 8554}

4eY_coild:c

|
11939 11939.5 11940 11940.5 1194111941.5 11942

L1109 A8y

-50

11939 11939.5 11940 11940.5 1194111941.5 11942

-

R EREEE EREEE N
0 11940.5 119411194151

i

TR R
911939.5 111

1

1100~ At

0

cyclenum

cyclenum

cyclenum



-100

-150

-200

-250

12X_coil6
~

)

12X_coill:cyclenum {run == 8554}

e e PR [A— -
. S . P e .-

11939 11939 5 11940 11940.5 1194111941.5 11942
cyclenum

12X_coil6:cyclenum {run == 8554}

AT I i i
11036 116395 L1890 119405 12&111941.5 11942

cyclenum

12X_coil3

Len_vuni

-200

-300

-400

-500

—-600

12X_coil3:cyclenum {run == 8554}
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